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1-3
(
)
[ 1 (
1 1)
1
[ ] 43
50
50
42 2 1//3
1) [N/mm?]
6.8 210 315 150 225 480 600
) ( M) [N/mm?]
(FCD500) 190 285 130 195 320 500
3) ( [N/mm?]
SD345 345 440 200 300 490
(4) [N/mm?]
42 16 24 0.73 1.1
RC



2-1

1)

-2.1.1

CRMFL

Do m 3.400
) Di m 3.100
) Di' m 3.000
) Rc m 1.6250
) Rc' m 1.6000
h m 0.150
) h* m 0.200
B m 1.200
5
(o < 0.0
Ast cm? 15.888
As2 cm? 15.888
d m 0.035
d2 m 0.035
D10
Nt 124
Ats cm? 88.449

RC




A B =l
Uﬂﬂ@ U — )
| = | |
| T F O J
; i ;
M D22 ]
D22 A mm 23
4 B mm 11
mm 85 C mm 164
mm? 1548.4 D mm 100
2 ) mm? 1850
mm 22
mm 265
B
TUn-HEDER Ash
B m 1.200
0
h m 0.15 U /
h' m 0.2
db mm 85
Asb mm? 1548.4

RC
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2-2

@)

18.400m

H=

N Vsi @) cknsme) | ¢ vii )« Vi
% oL (m/sec) (N/m3) | (kN/m3)
8 1 15 197 20.000 0.000 17.500 8.500
g 2 5 171 0.000 15.000 16.500 7.500
5
o
o
—
w =)
N 8 3 33 257 28.000 0.000 18.000 9.000
8 4 a 276 32.000 0.000 19.000 10.000
g 5 38 260 30.000 0.000 18.000 9.000
W%
50 300
-2.2.1
Vsi(m/sec)
24 3
Vsi = 100Ni¥3(1 Ni 25)
Vsi = 80Ni*3(1 Ni 50)
Ni =0 Vsi= 50
Ni i N
i i
RC



@)

300m/s
N=25 N=50

5m

GL-18.400m

50

300m/s

RC

(L1)



3-1

n Hi
Te= 4% -
i=1 Vsi
Te (sec)
Hi i (m)
Vsioooi (m/sec)
Hi(m) Vsi(m/sec) 4 Hi/Vsi(sec)
1 3.300 15 197 0.067
2 1.000 5 171 0.023
3 4.200 33 257 0.065
4 6.200 41 276 0.090
5 3.700 38 269 0.055
18.400 0.300
Te = 0.300 (sec)
RC

(L1)



3-2

3-3

Ts=1.25 To=1.25 > 0.300 = 0.375 (sec)

Ts
Te 0.300(sec)
1
1621 53 10 20 ) ABC
1.0 0.85 0.7
0.40 [
0.30 |-
(0.5,0.240) A
0.20 (0.5,0.204) B
B (0.5,0.168) c
e 05201
0.08 (0.25,0.120)
Sv o7
(m/s) 006
0.05
0.04
0.03 | | L1 | | | | |
0.1 0.2 0.3 0405 0.7 1 2 3 4
Ts( )
-3.3.1
Ts =0.375 (sec) Sv

Sy = 10( axlogTs+b)
a = (log0.24 - 10g0.171) / (log0.5 - 10g0.25 ) = 0.489
b = (log0.5 ><10g0.171 - 10g0.25 > log0.24 ) / (log0.5 - 10g0.25 ) = -0.473

SV = 10( 0.489><log 0.375 + -0.473) = 0208 (mlsec)

RC

(L1)



3-4

Gs
VYteq
Gs = Vps?

g
4H 4><18.400

Vbs = =
Ts 0.375

18.166
Gs =

= 196.3 (m/sec)

> 196.32 = 71429 (KN/m?)

Gs (kN/m?)
g 9.8 (m/sec?)
Vbs (m/sec)
H 18.400 (m)
Ts 0.375 (sec)
Vteq (kN/m?3)
> vyi Hi 334.250
Vieq = H = 18.400 = 18.166 (kN/md)
Hi(m) yi  Hi
Vi (KN/m?d)
1 3.300 17.500 57.750
2 1.000 16.500 16.500
3 4.200 18.000 75.600
4 6.200 19.000 117.800
5 3.700 18.000 66.600
334.250

RC

10

(L1)



3-5

L:

L
L1

L1
L2

L2

L2

2L1 Lo 2 > 73.6 < 112.5
Li+Lls 73.6 + 112.5
89.0 (m)

Vos Ts = 4H = 4 > 18.400

73.6 (M)

Ves Ts = 300 > 0.375

112.5 (m)

18.400 (m)
300 (m/sec)

0.375 (sec)

L1

RC

11

(L1)



3-6

Kgl

ng

Kg3

Cay,

Gs

Kg1

Kg2

Kg3

= C1 Gs=1 > 71429 = 71429 (KN/m?)

= C2 Gs=1 > 71429 = 71429 (KN/m?)

= Cs Gs=3 > 71429 = 214287 (kN/m?)

C: Kg Kg Kgs
Ci C2 1.0 Cs 3.0

71429 (kN/m?)

Te sec 0.300
Ts sec 0.375
Sv m/sec 0.208
Vteg kN/m? 18.166
Vos m/sec 196.3
Gs kN/m? 71429
L m 89.0
Kot kN/m? 71429
Kg2 kN/m? 71429
Kgs kN/m? 214287
RC

12



4-1
)
( )
Ki
[=n@B o
1B
Kj EsAs
N« >N N
N <« (EA)Teq >N N =
-4.1.1
)
(
( )

-4.1.2

|I=n@B

(EA)Ceq

7 o

RC

13



4-2

1)
Do m 3.400
( ) Di m 3.100
( ) Di m 3.000
h m 0.150
( ) h' m 0.200
B m 1.20
( ) Rc m 1.6250
( ) Rc' m 1.6000
0J2-1501
D32-150L
/ SD345
SDJ45 \ . |
[ 11 ﬁmﬂﬁ\j 8QIW >
[T o ST
a |
150 58.7 32.9. 145
kj = 0.065 >< 105  (KN/m)
-7
( ) nbr 13
Ao m? 0.0001539
An m?2 0.000192
Iz m 0.005
Ib2 m 0
Ib3 m 0.012
loa m 0.02




15

4-3
1)
1) As'
Tt ( Do? - Di?)
As' =
4
TT >< ( 3.4002 - 3.0002)
= = 2.011 (m?)
4
Do : 3.400 (m)
Di 3.000 (m)
2) Is
Tt (Do* - Di*)
Is =
64
TT > ( 3.400* - 3.000*)
= = 2.584 (m*)
64
3) Ks
Ec As' 33000000 > 2.011
Ks = = = 55302500 (kN/m)
B 1.20
Ec 33000000 (KN/m?)
As' 2.011 (m?)
B : 1.20 (m)

kj
kj =0.065 > 1000000 (kN/m)
Kij
Kj = kj > nbr = 0.065> 1000000 > 13 =845000 (kN/m)

nbr = 13

RC (L1)



4-4

1)

(EA)Ceq

(EA)Teq

(EA)Ceq
Ks Kb

= Ec As' = 33000000 >< 2.011 = 66363000 (kN)

1
(Ks/Kj)+1
1

= > 33000000 >< 2.011
(155302500 /7 845000 ) + 1

Ec As'

= 998740 (kN)

(EA)Ceq (kN)

(EA)Teq (kN)

Ec 33000000 (kN/m?)
As' 2.011 (m2)

Ks 55302500 (kN/m)
K; 845000 (kN/m)

RC

16



@)
1) (El)Ceq
(El)ceq = Ec Is
Ec 33000000 (kN/m?)
Is 2.584 (m*)
(El)%q = Ec Is = 33000000 > 2.584 = 85272000 (kN m?)
2) (El)Teq

coscp
(E|)Teq = B Ec Is
cose + (Tt /2+ @) Ssing

Ec 33000000 (kN/m?)
Is 2.584 (m4)
o® (rad)
Ki 845000 (kN/m)
@
1 Kij
+cotep = TT +
P P ( 2 Ec As'/B )
1 845000
= 7T X< ( + )
2 33000000 =< 2.011 / 1.20
= 1.619
@ = 1.064 (rad)
cos® 1.064
(EDTeq = > 33000000 =< 2.584

cos 1.064 + (1T / 2 + 1.064) >< sin 1.064

= 3496242 (kN m?)

RC

17



m2

2.011
55302500

kN/m

845000

kN/m

kN

66363000

kN

998740

kN m?

85272000

kN m?

3496242

RC



5-1 h(z) v
a) h(z)
2 TZ
Ung = Sv Ts cos
ha) - (—5)
2 7T >< 11.000
= ——— > 0.208 > 0.375 >< cos (————————— ) =0.00933 (m)
TT? 2 =< 18.400
Sv 0.208 (m/sec)
Ts 0.375 (sec)
11.000 (m)
H 18.400 (m)
b) Y
Uv Uh)
1 1
Uv = T Une = T > 0.00933 = 0.00467 (m)
U:Agntzf*J
> hcoso
) 2K
Asino—| A:Uh(z):%z Sve Tse cos %
L/cose
Ua Asin ¢
SEEZENU. U=Asind -« sin [ZMTON)v XJ
Ur Acoso
BHEEEU, U=Acos¢ - sin [ZKCTOS® o X)
-5.1.1
RC

1/2

19

(L1)



5-2

-5.1.1
-5.2.1
PCh
Tt Une
P = a% f ( EA )Ceq
7T >< 0.00933
= 0.304 =< T > 66363000 = 6644.176 (kN)
PTh
Tt Unhe
Phh = ams f (EA )Teq
7T >< 0.00933
= 0.966 < ———— > 998740 = 317.739 (kN)
89.0
PCv
Tt (Unp + Uv)
P&y = a% ( EA )Ceq

2L

T > (0.00933 + 0.00467 )

0.304 x<
2 > 89.0

> 66363000 = 4984.912 (kN)

-5.2.1

RC

20

(L1)



PTv

MCh

MTh

MCv

MTv

Q¢

Q'

PTv
7T (Unp + Uv)
(o &1 ( EA )Teq
2L
7T >< (0.00933 + 0.00467 )
0.966 > > 998740 = 238.390 (kN)
2 %< 89.0
MCh
4112 Une
o’ T ( El')Ceq
47112 > 0.00933
0.971 < > 85272000 = 3850.233 (kN m)
89.0?
MTh
4112 Une
a™ T (El)Teq
47172 >< 0.00933
0.999 x< >< 3496242 = 162.416 (KN m)
89.0?
MCv
4112 Uv
c, — c
(© k] L2 ( El ) eq
47172 > 0.00467
0.990 x< > 85272000 = 1964.890 (kN m)
89.0?
MTv
4112 Uv
o3 T (El')Teq
47172 > 0.00467
1.000 x< > 3496242 = 81.376 (kN m)
89.0?
Q%
8113 Unw
o’ T ( El')Ceq
87113 >< 0.00933
0.971 < > 85272000 = 271.817 (kN)
89.0°
Q™
81T Unp
o' ¢p) T (El)Teq
87113 >< 0.00933
0.999 =< 89.0° >< 3496242 = 11.466 (kN)

RC

21

(L1)



Qv

81t®  Uv
¢, = ¢yCq —0 c
Q% = ats E (El) eq
871T3 > 0.00467
= 0.990 =< > 85272000 = 138.716 (kN)
89.0°
Q'v
81t®  Uv
T, = (yTa —01 o2 T
Qv = a's E ( El ) eq
871T3 >< 0.00467
= 1.000 =< > 3496242 = 5.745 (kN)
89.0°
(EA)Ceq : 66363000 (kN)
(EA)Teq . 998740 (kN)
(ENCeq 85272000 (kN m2)
(ENTeq : 3496242 (kN m?)
Unw : 0.00933 (m)
Uv : 0.00467 (m)
L : 89.0 (m)
a% alt a% a2 a% a’s
1 1
ot = = = 0.304
1+(21t/ (A% Li))?2 1+ (271t /(0.033 < 125.9))?
1 1
o’y = = = 0.966
1+(21t/ (A1 Li))? 1+ (2711 /(0.267 < 125.9))?
1 1
o = = = 0.971
1+(21t/ (A% L))* 1+ (271t /(0.170 < 89.0) )*
1 1
o’y = = = 0.999
1+(21t/ (A2 L))* 1+ (271t /(0.378 =< 89.0) )*
1 1
o3 = = = 0.990
1+(21t/ (A% L))* 1+ (2711 /(0.224 =< 89.0) )*
1 1
a’s = = = 1.000
1+(21t/ (A3 L))* 1+ (2711 /(0.498 < 89.0) )*

RC



Kot 71429
AC = — = = 0.033 (I/m)
(EA)Ceq 66363000
Kg 71429
AT = — = = 0.267 (I/m)
(EA)Teq 998740
Kg2 71429
A =4 =4 ———— = 0.170 (/m)
(E1)Ceq 85272000
Kg2 71429
AT =4 =4 ———— = 0.378 (I/m)
(El)Teq 3496242
Kga 214287
AC =4 =4 ————— = 0.224 (I/m)
(E1)Ceq 85272000
Kga 214287
AT =4 =4 ———— = 0.498 (I/m)
(El)Teq 3496242
L =2 L=/2 > 80.0=1259(m)

71429 (KN/m?2)
71429 (KN/m?2)
214287 (kN/m?)

PCh,PTh kN 6644.176 317.739
PCy,PTy kN 4984.912 238.390
MCh,MTh kN m 3850.233 162.416
MCv,MTy kN m 1964.890 81.376
QC, QT kN 271.817 11.466
Q%,Q'v kN 138.716 5.745

Un m 0.00933

Uv m 0.00467

RC

23



5-3
-5.3.1
45 4
5-2
/
-5.3.1
@)
a) PS"
1 1
PS%' = —= P% = -—= > 11746.865 = 8306.288 (kN
0 > 0 TE (kN)
P<o
PC = | 2P%2 + 2P%\2
:A/ 2 < 6644.1762 + 2 =< 4984.912?> = 11746.865 (kN)
b) MS" MTh'
1 1
M&%' = —=  M%% = -——= > 3850.233 = 2722.526 (kN
h > h B (kN)
1 1
MT' = — M™h = —— > 162.416 = 114.845 (kN
h > h TR (kN)
MCh 3850.233(kN m)
MTh 162.416(kN m)

RC

24

(L1)



@)

a) PTo'

1 1
PTO' [ — PTO = /\/?XSGJ_?G]. = 397225 (kN)

PTo = | 2PTh2 + 2PTy?

:A/ 2 > 317.739% + 2 > 238.390> = 561.761 (kN)

b) MS' MTV'

1 1
M&' = — MS = — > 1064.890 = 1389.387 (kN
v > Vo= T (kN)

1
= > 81.376 = 57.542 (kN
iz ()

=
<-

I
l\)| [
=
<
I

My 1964.890(kN m)
MTv 81.376(kN m)

®)
P%’,PTo’ kN 8306.288 397.225
MCh' ,MTy* kN m 2722.526 114.845
M, MTy* kN m 1389.387 57.542
RC

25



5-4

1)

Pmax (KN)

: PCrax (kN)

PCrax = EC PCo*

: PTmax (kN)

PTmax = ET PTo'

Ec
ET
& &
cos (21t N /L)
cosh (A% (Li/2-1n))

EC = 1+

(EA )Teq a’s cos (21t N /L)
T = —
& ( EA )Ceq a‘ ( cosh (AT n) )
N 0<nN<L/4
27T 2Tt
- T T - C C
N L a’t tanh (AT nN)+ o L a1 tanh (A%
n
-(ami-a) tan (27T T):O

AT : 0.267 (I/m)
A : 0.033 (I/m)

L : 125.9 (m)
o™ : 0.966
o’ : 0.304
n
N = 14.802 (m)

RC

26



EC

ET

Pcmax

PTmax

&g &'

cos (21t N /L)
cosh(A% (L/2-n))

cos (21T >< 14.802 / 125.9)
cosh (0.033 >< (125.9 /2 - 14.802))

= 1.290

cos (21t N /L)

( EA )Teq a’
1-
( EA )Ceq ot ( cosh (AT nN) )

998740 0.966 cos (27T > 14.802 / 125.9 )

x<
66363000 0.304 cosh (10.267 >< 14.802)

P’ : 8306.288 (kN)
PTe' @ 397.225 (kN)

= &° PS%' = 1.290 >< 8306.288 = 10715.112 (kN)

= &T PT' = 0.046 > 397.225 = 18.272 (kN)

M Cmax M Tmax

Mh*

MCh’ 2722.526 (kN m)

MSy* 1389.387 (kN m)
MCmax = MC' = 2722.526 (kN m)

MTh" 114.845 (kN m)

M 57.542 (kN m)

Mimax = M7 = 114.845 (kN m)

) = 0.046

Mv*

PCrmax, P Tmax kN 10715.112

18.272

Mcmax,MTmax kN m 2722.526

114.845

RC

27

(L1)



5-5

1)

a)

aC

:o%
Pcmax Mcmax
+
As Is vz
yzs (m)
yzs = Do / 2 = 3400 / 2 = 1.700 (m)
As 1.532 (m?)
Is 2.026 (m%)
1T (Do? - D?) 7T ( Do* - Di*)
Is =
4 64
7T >< ( 3.400% - 3.100%) TT > ( 3.400% - 3.100%)
= 1.532 (m?) =
4 64
10715.112 2722.526
= > 1.700
1.5320 2.026

9279 (kN/m?)

9.279 (N/mm?)

RC

2.026 (m*)

28



fi

fi =

7.321 (N/mm?)

29

OB2

0.000192 (m?)
13 ( /Ring)

Rc (l+sin) Kk

> 1.6250 > (1 +sin1.020 ) > 65000

39.219 (N/mm?)

. OB
OB OBl
OBl + OB
OBl
PTmax 18.272
= = 7321 (KN/m?)
As 0.002496
As
An  ner = 0.000192 =< 13 = 0.002496 (m?)
An
Nbr
OB2
fi
An
(kN)
MTmax B TT sincp
Ec Is cosip
114.845 x< 1.20 7T < sinl1.020
33 < 105 >< 2.026 €0s%1.020
7.530 (kN)
MTmax :
Is (
B
Ec
()
K;
RC ( )
fi 7.530
= = ————— = 39219 (kN/m?)
An 0.000192

114.845 (kN m)
2.026 (m*%

1.20 (m)
33000000 (kN/m?)
1.020 (rad)

65000 (kN/m)
1.6250 (m)

RC (L1)



2
( 6.8 )
OBl N/mm? 315 7.321 OK
OB N/mm? 315 39.219 OK
OB N/mm? 315 46.540 OK
asc N/mm? 24 9.279 OK
3
( ) : Dt
PTmax PTmax
Ot = +
Ks Kij
18.272 18.272
= +
42130000 845000
= 0.00002206 (m) 0.0221 (mm)
PTmax : 18.272 (kN)
Ks 42130000 (KN/m)
Kj 845000 (kN/m)

1Ring

RC

30



36
XY
) )
(m) (m) (m) (m)

1 0.0000 1.6000| 19 0.0000 -1.6000
2 0.2778 1.5757| 20 -0.2778 -1.5757
3 0.5472 1.5035| 21 -0.5472 -1.5035
4 0.8000 1.3856 | 22 -0.8000 -1.3856
5 1.0285 1.2257| 23 -1.0285 -1.2257
6 1.2257 1.0285| 24 -1.2257 -1.0285
7 1.3856 0.8000| 25 -1.3856 -0.8000
8 1.5035 0.5472| 26 -1.5035 -0.5472
9 1.5757 0.2778| 27 -1.5757 -0.2778
10 1.6000 0.0000| 28 -1.6000 0.0000
11 1.5757 -0.2778 | 29 -1.5757 0.2778
12 1.5035 -0.5472| 30 -1.5035 0.5472
13 1.3856 -0.8000| 31 -1.3856 0.8000
14 1.2257 -1.0285| 32 -1.2257 1.0285
15 1.0285 -1.2257| 33 -1.0285 1.2257
16 0.8000 -1.3856| 34 -0.8000 1.3856
17 0.5472 -1.5035| 35 -0.5472 1.5035
18 0.2778 -1.5757| 36 -0.2778 1.5757

RC

31



32

@)

Ec = 33000000 (kN/m?)
@
A = b h' = 1.00 > 0.200 = 0.200 (m?)
@)
b h® 1.00 > 0.200°
lse = = = 0.000667 (m*)
12 12
b : 1.00 (m)
h* 0.200 (m)

El = n Ec s

0.80 > 33000000 > 0.000667

17609 (kN m)

Ec 33000000 (kN/m?)
n : 80 ( )

RC (L1)



6-1

Pvi

PH1 PH1
TEREEREREN
W
/
<< 45°
< 45°
AN
q q
PH2 PH2
Pv1
(O N A N A O O
Pq
.6.1.2
Pvi | KN/m? 132.459
Pri | KN/m? 98.844
Phz | kN/m?2 143.644
Wg | kN/m? 5.081
Pg kN/m? 15.962
q kN/m? 8.320
e o
() Pr(KN/m?) q(kKN/m?)
1 0 98.8440 0.0000
2 36 10 99.1843 0.0000
3 35 20 100.1949 0.0000
4 34 30 101.8450 0.0000
5 33 40 104.0846 0.0000
6 32 50 106.8456 0.7568
7 31 60 110.0440 2.4369
8 30 70 113.5827 4.2957
9 29 80 117.3543 6.2768
10 28 90 121.2440 8.3200
11 27 100 125.1337 6.2768
12 26 110 128.9053 4.2957
13 25 120 132.4440 2.4369
14 24 130 135.6424 0.7568
15 23 140 138.4034 0.0000
16 22 150 140.6430 0.0000
17 21 160 142.2931 0.0000
18 20 170 143.3037 0.0000
19 180 143.6440 0.0000
RC

33



34

@)

.6.1.3

(L1)

RC



35

©)
X Y X Y
(m) (m) (m) (m) (m) (m)
1 0.000399 | -0.000546 | _ 0.000000
2 0.000393 | -0.000521] _ 0.000175] 36 0.000404 | -0.000521 | -0.000175
3 0.000404 | -0.000450 | 0.000324 | 35 0.000393 | -0.000450 | -0.000324
4 0.000441 | -0.000351]  0.000425| 34 0.000356 | -0.000351 -0.000425
5 0.000506 | -0.000243 | _ 0.000465 | 33 0.000291 | -0.000243 | -0.000465
6 0.000590 | -0.000147|  0.000441] 32 0.000207 | -0.000147 | -0.000441
7 0.000678 | -0.000075| _ 0.000360 | 31 0.000119] -0.000075| -0.000360
8 0.000750 | -0.000031| _ 0.000238] 30 0.000047 | -0.000031 | _-0.000238
9 0.000792 | -0.000010 _0.000094 | 29 0.000005 | -0.000010] -0.000094
10 0.000797 | 0.000000| -0.000053 | 28 0.000000 ] 0.000000| _0.000053
11 0.000764]  0.000012 | -0.000186 | 27 0.000033 | 0.000012] _0.000186
12 0.000701 | 0.000039 | -0.000293 | 26 0.000096 | 0.000039 | _ 0.000293
13 0.000622 | 0.000087 | -0.000364 | 25 0.000175|  0.000087 | 0.000364
14 0.000540 | 0.000155| -0.000393| 24 0.000257 | 0.000155|  0.000393
15 0.000470 | 0.000238 | -0.000378 | 23 0.000327 | 0.000238 | _ 0.000378
16 0.000420 | 0.000325| -0.000323 | 22 0.000377| _ 0.000325] _0.000323
17 0.000395 | 0.000400 | -0.000235| 21 0.000402 | 0.000400| _ 0.000235
18 0.000391 | 0.000451| -0.000124 | 20 0.000406 | 0.000451] _ 0.000124
19 0.000399 | 0.000469 | 0.000000
4)
M(KN m) QKkN) N(kN) M(kN m) QKN) N(kN)
T | 1 11.500 -3.115 183.669| 36 | 1 11.500 3.115 183.669
112 10.632 -3.115 183.669| 36 | 36 10.632 3.115 183.669
2 | 2 10.632 -8.793 186.538| 35 | 36 10.632 8.793 186.538
2 [ 3 8.180 -8.793 186.538| 35 | 35 8.180 8.793 186.538
3 [ 3 8.180 -12.926 191.803] 34 | 35 8.180 12.926 191.803
3 | 4 4.574 -12.926 191.803| 34 | 34 4.574 12.926 191.803
4 | 4 4.574 -14.820 198.622| 33 | 34 4.574 14.820 198.622
4 [ 5 0.441 -14.820 198.622| 33 | 33 0.441 14.820 198.622
5 [ 5 0.441 -14.204 205.955| 32 | 33 0.441 14.204 205.955
5 [ 6 -3.520 -14.204 205.955] 32 | 32 -3.520 14.204 205.955
6 | 6 -3.520 -11.396 212.677] 31 | 32 -3.520 11.396 212.677
6 | 7 -6.699 -11.396 212.677] 31 | 31 ~6.699 11.396 212.677
7 [ 7 -6.699 -7.225 217.937] 30 | 31 ~6.699 7.225 217.937
7 | 8 -8.714 7.225 217.937] 30 | 30 -8.714 7.225 217.937
8 | 8 -8.714 ~2.645 221.438] 29 | 30 -8.714 2.645 221.438
8 | 9 -9.451 ~2.645 221.438] 29 | 29 -9.451 2.645 221.438
9 [ 9 -9.451 1.455 223.364] 28 | 29 -9.451 ~1.455 223.364
9 [ 10 -9.045 1.455 223.364] 28 | 28 -9.045 ~1.455 223.364
10 | 10 -9.045 4.607 224.059| 27 | 28 -9.045 ~4.607 224.059
10 | 11 ~7.761 4.607 224.059| 27 | 27 ~7.761 ~4.607 224.059
11 | 11 ~7.761 7.231 223.614] 26 | 27 ~7.761 ~7.231 223.614
11| 12 -5.744 7.231 223.614] 26 | 26 -5.744 ~7.231 223.614
12 | 12 -5.744 9.079 222.159| 25 | 26 -5.744 ~9.079 222.159
12 | 13 -3.212 9.079 222.159| 25 | 25 -3.212 -9.079 222.159
13 | 13 -3.212 9.930 220.089| 24 | 25 -3.212 -9.930 220.089
13 | 14 -0.442 9.930 220.089| 24 | 24 -0.442 -9.930 220.089
14 | 14 -0.442 9.737 217.802] 23 | 24 -0.442 -9.737 217.802
14 | 15 2.274 9.737 217.802] 23 | 23 2.274 -9.737 217.802
15 | 15 2.274 8.532 215.726| 22 | 23 2.274 -8.532 215.726
15 | 16 4.653 8.532 215.726| 22 | 22 4.653 -8.532 215.726
16 | 16 4.653 6.534 214.163| 21 | 22 4.653 ~6.534 214.163
16 | 17 6.476 6.534 214.163] 21 | 21 6.476 ~6.534 214.163
17 | 17 6.476 4.070 213.158| 20 | 21 6.476 ~4.070 213.158
17 | 18 7.611 4.070 213.158| 20 | 20 7.611 ~4.070 213.158
18 | 18 7.611 1.378 212.677] 19 | 20 7.611 -1.378 212.677
18 | 19 7.995 1.378 212.677] 19 | 19 7.995 -1.378 212.677
RC
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1)
1)

= ~a
7 DN
e 3 .
/ \ Kh CES B BB )
J ' * Ks (BBHBHEN)
%
N\ v
N ‘ s
= =
ST
.6.2.1
Kh Ks
Kh=3Eo/ (1 +o) (5 - 6\Wo) RC'
Ks=Kh/3
Rc': m
Eb: kN/m2
Ep =2(1 + wp) Gs
Gs:3-4 71429.000 KN/m2
Vo = (Hw W1 + (Hg - Hw) W2 ) / Hyg
D1 wvD
VD2 0.45
Huw: 1.890 (m 0-50
0.40
Ho: 18.400 (m
0.30
\JD1,\JD2 6-2-1
6-2-1

RC



2)
N
3.300 15
1.000 5
£
o
8
pa
lﬂl 4.200 33
£
S
&
1
Ny
KJ 6.200 41
3.700 38
Y Y’ P
1 3.300 15 17.500 8.500 0.000 20.000
2 1.000 5 16.500 7.500 15.000 0.000
3 4.200 33 18.000 9.000 0.000 28.000
4 6.200 41 19.000 10.000 0.000 32.000
5 3.700 38 18.000 9.000 0.000 30.000

Vo = (Hu 0.45 + (Hg - Hw) 0.50 ) / Hy

wo = (1.89 0.45 + (18.4 - 1.89) 0.50) / 18.4

=0.495
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3)
4
.6.2.2
@
1 Kh Ks
wvD ED ds
(kN/m2) (m) (kN/m2) (kN/m2)
1 4 0.495 213572.710 0.2793 131950.123 43983.374
2 36 4 0.495 213572.710 0.2793 131950.123 43983.374
3 35 4 0.495 213572.710 0.2793 131950.123 43983.374
4 34 4 0.495 213572.710 0.2793 131950.123 43983.374
5 33 4 0.495 213572.710 0.2793 131950.123 43983.374
6 32 4 0.495 213572.710 0.2793 131950.123 43983.374
7 31 4 0.495 213572.710 0.2793 131950.123 43983.374
8 30 4 0.495 213572.710 0.2793 131950.123 43983.374
9 29 4 0.495 213572.710 0.2793 131950.123 43983.374
10 28 4 0.495 213572.710 0.2793 131950.123 43983.374
11 27 4 0.495 213572.710 0.2793 131950.123 43983.374
12 26 4 0.495 213572.710 0.2793 131950.123 43983.374
13 25 4 0.495 213572.710 0.2793 131950.123 43983.374
14 24 4 0.495 213572.710 0.2793 131950.123 43983.374
15 23 4 0.495 213572.710 0.2793 131950.123 43983.374
16 22 4 0.495 213572.710 0.2793 131950.123 43983.374
17 21 4 0.495 213572.710 0.2793 131950.123 43983.374
18 20 4 0.495 213572.710 0.2793 131950.123 43983.374
19 4 0.495 213572.710 0.2793 131950.123 43983.374
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@)
o WEKEN o WEKEN Y
AQh=AUhXKh  AQh=AUhXKh
0
.6.2.3
2 TTZ
Une = Sv Ts cos

a) = ( N )

b) = U sin© (m)

C) = U co0sO (m)

a) gk= U sin® ds K (kN/m)

b) g= U cos® ds Ks(kN/m)

(1)
Z(m) Ura(m) u(m) U sin® U cos® ds Kb ds Ks ak aj
(m) (m) (KN/m?) (KN/m?) (KN/m) (kN/m)
1 9.4000 [ 0.0110] 0.0035 0.000000 0.003500 36853.669 12284.556 0.0000 42.9959
2 9.4243 ] 0.0110| 0.0035 0.000608 0.003447 36853.669 12284.556 22.3985 42.3427
3 9.4965| 0.0109 | 0.0034 0.001163 0.003195 36853.669 12284.556 42.8560 39.2486
4 9.6144 [ 0.0108 | 0.0033 0.001650 0.002858 36853.669 12284.556 60.8086 35.1078
5 9.7743]  0.0106 | 0.0031 0.001993 0.002375 36853.669 12284.556 73.4362 29.1726
6 9.9715[ 0.0104| 0.0029 0.002222 0.001864 36853.669 12284.556 81.8715 22.8994
7 10.2000 | 0.0102| 0.0027 0.002338 0.001350 36853.669 12284.556 86.1738 16.5842
8 10.4528 | 0.0099 |  0.0024 0.002255 0.000821 36853.669 12284.556 83.1147 10.0838
9 10.7222 | 0.0096 | 0.0021 0.002068 0.000365 36853.669 12284.556 76.2169 4.4797
10 11.0000 | 0.0093| 0.0018 0.001800 0.000000 36853.669 12284.556 66.3366 0.0000
11 11.2778 | 0.0090 | 0.0015 0.001477 | -0.000260 36853.669 12284.556 54.4407 -3.1098
12 115472 0.0087| 0.0012 0.001128 | -0.000410 36853.669 12284.556 41.5573 -5.0419
13 11.8000 [ 0.0084 | 0.0009 0.000779 | -0.000450 36853.669 12284.556 28.7246 -5.5281
14 12.0285| 0.0082 | 0.0007 0.000536 | -0.000450 36853.669 12284.556 19.7621 -5.5275
15 12.2257 | 0.0080 | 0.0005 0.000321 | -0.000383 36853.669 12284.556 11.8445 -4.7053
16 12.3856 | 0.0078 | 0.0003 0.000150 | -0.000260 36853.669 12284.556 5.5281 -3.1016
17 125035 | 0.0076 | 0.0001 0.000034 | -0.000094 36853.669 12284.556 1.2605 -1.1544
18 12,5757 | 0.0075| 0.0000 0.000000 0.000000 36853.669 12284.556 0.0000 0.0000
19 12.6000 | 0.0075| 0.0000 0.000000 0.000000 36853.669 12284.556 0.0000 0.0000
20 12,5757 | 0.0075| 0.0000 0.000000 0.000000 36853.669 12284.556 0.0000 0.0000
21 125035 | 0.0076 | 0.0001 | -0.000034 | -0.000094 36853.669 12284.556 -1.2605 -1.1544
22 12.3856 | 0.0078 | 0.0003 | -0.000150 | -0.000260 36853.669 12284.556 -5.5281 -3.1916
23 12.2257 | 0.0080 | 0.0005 | -0.000321 | -0.000383 36853.669 12284.556 -11.8445 -4.7053
24 12.0285| 0.0082 | 0.0007 | -0.000536 | -0.000450 36853.669 12284.556 -19.7621 -5.5275
25 11.8000 [ 0.0084 | 0.0009 | -0.000779 | -0.000450 36853.669 12284.556 -28.7246 -5.5281
26 115472 0.0087 | 0.0012 | -0.001128 | -0.000410 36853.669 12284.556 -41.5573 -5.0419
27 112778 0.0090 | 0.0015 [ -0.001477 | -0.000260 36853.669 12284.556 -54.4407 -3.1998
28 11.0000 | 0.0093| 0.0018 | -0.001800 0.000000 36853.669 12284.556 -66.3366 0.0000
29 10.7222 | 0.0096 | 0.0021 | -0.002068 0.000365 36853.669 12284.556 -76.2169 4.4797
30 10.4528 [ 0.0099 | 0.0024 | -0.002255 0.000821 36853.669 12284.556 -83.1147 10.0838
31 10.2000 | 0.0102 | 0.0027 | -0.002338 0.001350 36853.669 12284.556 -86.1738 16.5842
32 9.9715[ 0.0104] 0.0029 | -0.002222 0.001864 36853.669 12284.556 -81.8715 22.8994
33 9.7743[ 0.0106| 0.0031| -0.001993 0.002375 36853.669 12284.556 -73.4362 29.1726
34 9.6144 [ 0.0108| 0.0033| -0.001650 0.002858 36853.669 12284.556 -60.8086 35.1078
35 9.4965| 0.0109 | 0.0034 [ -0.001163 0.003195 36853.669 12284.556 -42.8560 39.2486
36 9.4243] 0.0110] 0.0035] -0.000608 0.003447 36853.669 12284.556 -22.3985 42.3427
RC
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(3) T O

T TXTY 6.2.1

TXx =Ty =Gs/ (1t H) Sv Ts sin(1tZ / 2H)

Gs

H

Ts

z

6.2.4
TX =Ty

T=(Ttx TY)/2+(tx TY)/ 2 Cc0S20
o= (Ttx TYy)/2sin20

Tmax = C + on tang

T (e}
HhEEEY
LERoE ] HARIND | X

(4

NI
DERNET IV

b YRGS X
I 2 EEITRIER
(i Zesin BT 1)

WER I E LN

6.24 OB HEHN

RC
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41

T O
Z h \V4 () on Tmax TX,TY TTX T o

(m) (m) (kN/m3)|(kN/m2)| (=) (kN/m2) | (kN/m2) | (kN/m2) (kN /%2) (kN/m2) | (KN/m2)

1 9.4000 4] 0.0000 10 0 32| 99.3600| 62.0870| 69.3069| 62.0870| 62.0870 0.0000
2 9.4243 4] 0.0243 10 0 32| 99.6031| 62.2389| 69.4457| 62.2389| 58.4854 | -21.2870
3 9.4965 41 0.0722 10 0 321 100.3249 | 62.6900| 69.8563| 62.6900| 48.0233| -40.2964
4 9.6144 4] 0.1179 10 0 32| 101.5036 | 63.4265| 70.5209 | 63.4265| 31.7133| -54.9290
5 9.7743 4] 0.1600 10 0 32| 103.1033 | 64.4261| 71.4116| 64.4261| 11.1875]| -63.4473
6 9.9715 4] 0.1972 10 0 32| 105.0754 | 65.6584 | 72.4912| 65.6584| -11.4015| -64.6609
7 110.2000 4] 0.2285 10 0 32| 107.3600| 67.0860| 73.7162| 67.0860| -33.5430| -58.0982
8 110.4528 4] 0.2528 10 0 32| 109.8877| 68.6654| 75.0388| 68.6654 | -52.6007 | -44.1373
9 110.7222 4] 0.2694 10 0 32| 112.5816| 70.3488| 76.4100| 70.3488| -66.1062 | -24.0607
10 | 11.0000 4| 0.2778 10 0 32| 115.3600| 72.0849| 77.7818| 72.0849 | -72.0849 0.0000
11 | 11.2778 4| 0.2778 10 0 32| 118.1384 | 73.8210| 79.1098 | 73.8210| -69.3690 | 25.2483
12 111.5472 4] 0.2694 10 0 32| 120.8323 | 75.5044 | 80.3550| 75.5044 | -57.8397 | 48.5333
13 |11.8000 4] 0.2528 10 0 32| 123.3600| 77.0839| 81.4847| 77.0839| -38.5420| 66.7566
14 |12.0285 4] 0.2285 10 0 32| 125.6446 | 78.5115| 82.4731| 78.5115| -13.6334| 77.3187
15 | 12.2257 4] 0.1972 10 0 32| 127.6167 | 79.7438| 83.3012| 79.7438| 13.8474| 78.5323
16 | 12.3856 4| 0.1600 10 0 32| 129.2164 | 80.7434| 83.9555| 80.7434| 40.3717 | 69.9258
17 |12.5035 4] 0.1179 10 0 32| 130.3951 | 81.4799| 84.4276| 81.4799| 62.4172| 52.3743
18 | 12.5757 4] 0.0722 10 0 32| 131.1169| 81.9309| 84.7125| 81.9309| 76.9899| 28.0220
19 |12.6000 4] 0.0243 10 0 32| 131.3600| 82.0828| 84.8077| 82.0828 | 82.0828 0.0000
20 |12.5757 4] 0.0243 10 0 32| 131.1169| 81.9309| 84.7125| 81.9309| 76.9899 | -28.0220
21 |12.5035 4| 0.0722 10 0 32| 130.3951| 81.4799| 84.4276| 81.4799| 62.4172| -52.3743
22 112.3856 4] 0.1179 10 0 32| 129.2164 | 80.7434| 83.9555| 80.7434| 40.3717] -69.9258
23 | 12.2257 4] 0.1600 10 0 32| 127.6167 | 79.7438| 83.3012| 79.7438| 13.8474| -78.5323
24 112.0285 4] 0.1972 10 0 32| 125.6446| 78.5115| 82.4731| 78.5115| -13.6334 | -77.3187
25 111.8000 4] 0.2285 10 0 32| 123.3600| 77.0839| 81.4847| 77.0839| -38.5419| -66.7566
26 | 11.5472 4] 0.2528 10 0 32] 120.8323 | 75.5044| 80.3550| 75.5044 | -57.8397 | -48.5333
27 111.2778 4] 0.2694 10 0 32| 118.1384 | 73.8210| 79.1098 | 73.8210| -69.3690 | -25.2483
28 111.0000 4| 0.2778 10 0 32| 115.3600| 72.0849| 77.7818| 72.0849| -72.0849 0.0000
29 110.7222 4| 0.2778 10 0 32| 112.5816| 70.3488| 76.4100| 70.3488| -66.1062 | 24.0607
30 |10.4528 4] 0.2694 10 0 32| 109.8877| 68.6654| 75.0388 | 68.6654 | -52.6007 | 44.1373
31 |10.2000 4] 0.2528 10 0 32| 107.3600| 67.0860| 73.7162| 67.0860| -33.5430| 58.0982
32 | 9.9715 4] 0.2285 10 0 32| 105.0754 | 65.6584 | 72.4912| 65.6584| -11.4015| 64.6609
33 | 9.7743 4] 0.1972 10 0 32| 103.1033| 64.4261| 71.4116| 64.4261| 11.1875| 63.4473
34 | 9.6144 4| 0.1600 10 0 32] 101.5036 | 63.4265| 70.5209 | 63.4265| 31.7132| 54.9290
35 | 9.4965 4] 0.1179 10 0 32| 100.3249| 62.6900| 69.8563| 62.6900| 48.0233| 40.2964
36 | 9.4243 4] 0.0722 10 0 32| 99.6031| 62.2389| 69.4457| 62.2389| 58.4854| 21.2870

= TX C0s20
= TX sin2O
RC (L)




1)
o ds
gk + o ds(kN/m)
1 gk
ds +
gk o o ds
(kN/m) (kN/m2) (m) (kN/m) o ds
1 0.0000 -0.0000 0.2793 0.0000 0.0000
2 22.3985 21.2870 0.2793 5.9454 28.3440
3 42.8560 40.2964 0.2793 11.2548 54.1107
4 60.8086 54.9290 0.2793 15.3417 76.1502
5 73.4362 63.4473 0.2793 17.7208 91.1570
6 81.8715 64.6609 0.2793 18.0598 99.9313
7 86.1738 58.0982 0.2793 16.2268 102.4006
8 83.1147 44.1373 0.2793 12.3275 95.4422
9 76.2169 24.0607 0.2793 6.7202 82.9371
10 66.3366 0.0000 0.2793 0.0000 66.3366
11 54.4407 -25.2483 0.2793 -7.0518 47.3888
12 41.5573 -48.5333 0.2793 -13.5553 28.0020
13 28.7246 -66.7566 0.2793 -18.6451 10.0795
14 19.7621 -77.3187 0.2793 -21.5951 -1.8330
15 11.8445 -78.5323 0.2793 -21.9341 -10.0895
16 5.5281 -69.9258 0.2793 -19.5303 -14.0022
17 1.2605 -52.3743 0.2793 -14.6281 -13.3677
18 0.0000 -28.0220 0.2793 -7.8265 -7.8265
19 0.0000 0.0000 0.2793 0.0000 0.0000
20 0.0000 28.0220 0.2793 7.8265 7.8265
21 -1.2605 52.3743 0.2793 14.6281 13.3677
22 -5.5281 69.9258 0.2793 19.5303 14.0022
23 -11.8445 78.5323 0.2793 21.9341 10.0895
24 -19.7621 77.3187 0.2793 21.5951 1.8330
25 -28.7246 66.7566 0.2793 18.6451 -10.0795
26 -41.5573 48.5333 0.2793 13.5553 -28.0020
27 -54.4407 25.2483 0.2793 7.0518 -47.3888
28 -66.3366 0.0000 0.2793 0.0000 -66.3366
29 -76.2169 -24.0607 0.2793 -6.7202 -82.9371
30 -83.1147 -44.1373 0.2793 -12.3275 -95.4422
31 -86.1738 -58.0982 0.2793 -16.2268 -102.4006
32 -81.8715 -64.6609 0.2793 -18.0598 -99.9313
33 -73.4362 -63.4473 0.2793 -17.7208 -91.1570
34 -60.8086 -54.9290 0.2793 -15.3417 -76.1502
35 -42.8560 -40.2964 0.2793 -11.2548 -54.1107
36 -22.3985 -21.2870 0.2793 -5.9454 -28.3440
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2)
T ds
gj + T ds(kN/m)
1 ds N a
: p
qj T ds
(kN/m) (kN/m2) (m) (KN/m) s
1 42.9959 62.0870 0.2793 17.3409 60.3368
2 42.3427 58.4854 0.2793 16.3350 58.6777
3 39.2486 48.0233 0.2793 13.4129 52.6615
4 35.1078 31.7133 0.2793 8.8575 43.9653
5 29.1726 11.1875 0.2793 3.1247 32.2973
6 22.8994 -11.4015 0.2793 -3.1844 19.7150
7 16.5842 -33.5430 0.2793 -9.3686 7.2156
8 10.0838 -52.6007 0.2793 -14.6914 -4.6076
9 4.4797 -66.1062 0.2793 -18.4635 -13.9838
10 0.0000 -72.0849 0.2793 -20.1333 -20.1333
11 -3.1998 -69.3690 0.2793 -19.3748 -22.5746
12 -5.0419 -57.8397 0.2793 -16.1546 -21.1965
13 -5.5281 -38.5420 0.2793 -10.7648 -16.2928
14 -5.5275 -13.6334 0.2793 -3.8078 -9.3353
15 -4.7053 13.8474 0.2793 3.8676 -0.8377
16 -3.1916 40.3717 0.2793 11.2758 8.0842
17 -1.1544 62.4172 0.2793 17.4331 16.2788
18 0.0000 76.9899 0.2793 21.5033 21.5033
19 0.0000 82.0828 0.2793 22.9257 22.9257
20 0.0000 76.9899 0.2793 21.5033 21.5033
21 -1.1544 62.4172 0.2793 17.4331 16.2788
22 -3.1916 40.3717 0.2793 11.2758 8.0842
23 -4.7053 13.8474 0.2793 3.8676 -0.8377
24 -5.5275 -13.6334 0.2793 -3.8078 -9.3353
25 -5.5281 -38.5419 0.2793 -10.7648 -16.2928
26 -5.0419 -57.8397 0.2793 -16.1546 -21.1965
27 -3.1998 -69.3690 0.2793 -19.3748 -22.5746
28 0.0000 -72.0849 0.2793 -20.1333 -20.1333
29 4.4797 -66.1062 0.2793 -18.4635 -13.9838
30 10.0838 -52.6007 0.2793 -14.6914 -4.6076
31 16.5842 -33.5430 0.2793 -9.3686 7.2156
32 22.8994 -11.4015 0.2793 -3.1844 19.7150
33 29.1726 11.1875 0.2793 3.1247 32.2973
34 35.1078 31.7132 0.2793 8.8575 43.9653
35 39.2486 48.0233 0.2793 13.4129 52.6615
36 42.3427 58.4854 0.2793 16.3350 58.6777
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3)
X Y X Y
(m) (m) (m) (m) (m) (m)

1 0.003326 | 0.000000| _ 0.000765

2 0.003344 | 0.000206 | _ 0.000689 | 36 0.003344 | -0.000206 | _ 0.000689

3 0.003385| _ 0.000365| _ 0.000470| 35 0.003385| -0.000365| _ 0.000470

4 0.003419]  0.000444]  0.000132| 34 0.003419] -0.000444|  0.000132

5 0.003405 | 0.000429 | -0.000288 | 33 0.003405 | -0.000429 | -0.000288

6 0.003301]  0.000330| -0.000742| 32 0.003301| -0.000330 | -0.000742

7 0.003079 | 0.000178| -0.001180 31 0.003079 | _-0.000178| -0.001180

8 0.002731  0.000010 | -0.001548 | 30 0.002731] -0.000019| -0.001548

9 0.002277 | -0.000101] -0.001799| 29 0.002277 | 0.000101] -0.001799

10 0.001760 | -0.000146 | -0.001900] 28 0.001760 | _ 0.000146 | -0.001900

11 0.001236| -0.000101] -0.001838| 27 0.001236|  0.000101] -0.001838

12 0.000767 | 0.000023 | -0.001616| 26 0.000767 | _-0.000023 | -0.001616

13 0.000400| _ 0.000191 | -0.001260| 25 0.000400 | -0.000191] -0.001260

14 0.000160 |  0.000355] -0.000813| 24 0.000160| -0.000355| -0.000813

15 0.000045 | 0.000465 | -0.000332 | 23 0.000045 | -0.000465 | -0.000332

16 0.000026 | _ 0.000486 | 0.000127 | 22 0.000026 | -0.000486 | 0.000127

17 0.000062 | 0.000402| _ 0.000508 | 21 0.000062 | -0.000402| _0.000508

18 0.000107 | 0.000227 | 0.000760] 20 0.000107 | _-0.000227 | _ 0.000760

19 0.000126 |  0.000000| _ 0.000848

4)
M(KN m) QKkN) N(kN) M(KN m) QKN) N(kN)
T 11 0.000 -34.369 12.781] 36 | 1 0.000 ~34.369 —12.781
112 -9.586 -34.369 12.781] 36 | 36 9.586 -34.369 -12.781
2 [ 2 -9.586 -30.517 37.193] 35 | 36 9.586 -30.517 -37.193
2 | 3 -18.097 -30.517 37.193] 35 | 35 18.097 -30.517 -37.193
3 | 3 -18.097 ~23.477 57.096| 34 | 35 18.097 —23.477 -57.096
3 | 4 24.644 23477 57.096| 34 | 34 24.644 23477 ~57.096
4 | 4 ~24.644 -13.344 70.676 | 33 | 34 24.644 -13.344 ~70.676
4 [ 5 -28.366 -13.344 70.676| 33 | 33 28.366 -13.344 ~70.676
5 [ 5 -28.366 -2.174 75.693| 32 | 33 28.366 -2.174 ~75.693
5 | 6 -28.972 -2.174 75.693| 32 | 32 28.972 —2.174 ~75.693
6 | 6 -28.972 9.630 71.782] 31 | 32 28.972 9.630 ~71.782
6 | 7 -26.287 9.630 71.782] 31 | 31 26.287 9.630 ~71.782
7 | 7 -26.287 21.926 59.185] 30 | 31 26.287 21.926 -50.185
7 | 8 =20.171 21.926 59.185] 30 | 30 20.171 21.926 -50.185
8 | 8 -20.171 31.097 38.621] 29 | 30 20.171 31.097 -38.621
8 [ 9 -11.499 31.097 38.621] 29 | 29 11.499 31.097 -38.621
9 [ 9 -11.499 36.516 12.565] 28 | 29 11.499 36.516 ~12.565
9 | 10 -1.314 36.516 12.565] 28 | 28 1.314 36.516 ~12.565
10 | 10 -1.314 37.717 -15.937] 27 | 28 1.314 37.717 15.937
10 | 11 9.205 37.717 -15.937] 27 | 27 -9.205 37.717 15.937
111 9.205 34.395 -43.482| 26 | 27 -9.205 34.395 43.482
11 | 12 18.797 34.395 43.482] 26 | 26 -18.797 34.395 43.482
12 | 12 18.797 26.491 -66.582| 25 | 26 -18.797 26.491 66.582
12 | 13 26.186 26.491 -66.582 | 25 | 25 -26.186 26.491 66.582
13 | 13 26.186 14.320 -81.998] 24 | 25 -26.186 14.320 81.998
13 | 14 30.179 14.320 -81.998 ] 24 | 24 -30.179 14.320 81.998
14 | 14 30.179 1.492 -88.128| 23 | 24 -30.179 1.492 88.128
14 | 15 30.59 1.492 -88.128| 23 | 23 ~30.596 1.492 88.128
15 | 15 30.59 -11.568 -83.976 | 22 | 23 -30.596 ~11.568 83.976
15 | 16 27.369 -11.568 -83.976] 22 | 22 ~27.369 -11.568 83.976
16 | 16 27.369 -23.971 69.478 | 21 | 22 -27.369 -23.971 69.478
16 | 17 20.684 -23.971 69.478 | 21 | 21 -20.684 ~23.971 69.478
17 | 17 20.684 -34.267 -45.630] 20 | 21 ~20.684 ~34.267 45.630
17 | 18 11.127 -34.267 -45.630 | 20 | 20 -11.127 -34.267 45.630
18 | 18 11.127 -30.896 -15.773] 19 | 20 -11.127 -30.896 15.773
18 | 19 0.000 -30.896 15773 19 | 19 0.000 ~39.896 15.773
RC
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5)
X X Y
(m) (m) (m) (m) (m) (m)

1 0.003725| -0.000546 |  0.000765

2 0.003737 | -0.000315| _ 0.000865| 36 0.003748 | _-0.000726 | _ 0.000514

3 0.003789| -0.000085| _ 0.000794 | 35 0.003778 | -0.000816 | _ 0.000146

4 0.003860 | 0.000093|  0.000557 | 34 0.003775| -0.000796 | -0.000294

5 0.003911| _ 0.000186|  0.000177| 33 0.003696 | -0.000673 | -0.000753

6 0.003892 | 0.000183| -0.000302 | 32 0.003508 | -0.000477| -0.001183

7 0.003757 | 0.000104| -0.000820] 31 0.003199 | _-0.000253 | -0.001540

8 0.003481 -0.000012 | -0.001310| 30 0.002779 | -0.000050 | -0.001785

9 0.003069 | -0.000111] -0.001705] 29 0.002282 | 0.000091| -0.001892

10 0.002557 | -0.000146 | -0.001953 | 28 0.001760 |  0.000146 | -0.001847

11 0.002001| -0.000088 | -0.002023 | 27 0.001269|  0.000113| -0.001652

12 0.001469 | 0.000062| -0.001909 | 26 0.000863 | 0.000016| -0.001323

13 0.001022|  0.000278 | -0.001623 | 25 0.000576 | -0.000105| -0.000896

14 0.000700| _ 0.000510] -0.001206| 24 0.000418 | -0.000200| -0.000421

15 0.000514 | 0.000704| -0.000710] 23 0.000372 | _-0.000227 | 0.000046

16 0.000447 | 0.000810 | -0.000196 | 22 0.000403 | -0.000161] 0.000450

17 0.000457 | 0.000802| _ 0.000273 | 21 0.000463 | -0.000002| _ 0.000743

18 0.000498 | 0.000678 | _ 0.000636 | 20 0.000513 | 0.000223 | _ 0.000883

19 0.000524 | 0.000469 |  0.000848
6)

M(KN m) QKkN) N(kN) M(KN m) QKN) N(kN)
T 11 11.500 -37.484 196.450| 36 | 1 11.500 ~31.254 170.888
112 1.046 -37.484 196.450 | 36 | 36 20.218 -31.254 170.888
2 [ 2 1.046 -39.310 223.731] 35 | 36 20.218 —21.724 149.345
2 | 3 -9.917 -39.310 223.731] 35 | 35 26.277 —21.724 149.345
3 | 3 -9.917 -36.403 248.899| 34 | 35 26.277 -10.551 134.707
3 | 4 -20.070 -36.403 248.899| 34 | 34 29.218 -10.551 134.707
4 | 4 -20.070 -28.164 269.298 | 33 | 34 29.218 1.476 127.946
4 [ 5 -27.925 -28.164 269.298| 33 | 33 28.807 1.476 127.946
5 [ 5 -27.925 -16.378 281.648] 32 | 33 28.807 12.030 130.262
5 | 6 -32.492 -16.378 281.648| 32 | 32 25.452 12.030 130.262
6 | 6 -32.492 -1.766 284.459| 31 | 32 25.452 21.026 140.895
6 | 7 -32.986 -1.766 284.459] 31 | 31 19.588 21.026 140.895
7 | 7 -32.986 14.701 277.122] 30 | 31 19.588 29.151 158.752
7 | 8 -28.885 14.701 277.122] 30 | 30 11.457 29.151 158.752
8 | 8 -28.885 28.452 260.059| 29 | 30 11.457 33.742 182.817
8 [ 9 -20.950 28.452 260.059| 29 | 29 2.048 33.742 182.817
9 [ 9 -20.950 37.971 235.929] 28 | 29 2.048 35.061 210.799
9 | 10 -10.359 37.971 235.929| 28 | 28 ~7.731 35.061 210.799
10 | 10 -10.359 42.324 208.122| 27 | 28 ~7.731 33.110 239.996
10 | 11 1.444 42.324 208.122| 27 | 27 -16.966 33.110 239.996
111 1.444 41.626 180.132| 26 | 27 -16.966 27.164 267.096
11 | 12 13.053 41.626 180.132] 26 | 26 ~24.541 27.164 267.096
12 | 12 13.053 35.570 155.577| 25 | 26 ~24.541 17.412 288.741
12 | 13 22.974 35.570 155.577] 25 | 25 -29.398 17.412 288.741
13 | 13 22.974 24.250 138.091] 24 | 25 -29.398 4.390 302.087
13 | 14 29.737 24.250 138.091] 24 | 24 -30.621 4.390 302.087
14 | 14 29.737 11.229 129.674] 23 | 24 -30.621 -8.245 305.930
14 | 15 32.870 11.229 129.674] 23 | 23 ~28.322 -8.245 305.930
15 | 15 32.870 -3.036 131.750] 22 | 23 -28.322 -20.100 299.702
15 | 16 32.022 -3.036 131.750] 22 | 22 ~22.716 ~20.100 299.702
16 | 16 32.022 -17.437 144.685] 21 | 22 -22.716 -30.505 283.641
16 | 17 27.160 -17.437 144685 21 | 21 ~14.208 -30.505 283.641
17 | 17 27.160 -30.197 167528 20 | 21 -14.208 ~38.337 258.788
17 | 18 18.738 -30.197 167528 20 | 20 -3.516 -38.337 258.788
18 | 18 18.738 -38.518 196.904 19 | 20 -3.516 ~41.274 228.450
18 | 19 7.995 -38.518 196.904| 19 | 19 7.995 ~41.274 228.450
RC



6)
M(KN m) N(kN) Q(kN)
+Mmax 14 15 32.870 129.674 11.229
-Mmax 7 7 -32.986 277.122 14.701
Qmax 10 10 -10.359 208.122 42.324
a) )
M=M B (1+Z&)
N=N B
Q=Q B
B 1.200 (m)
< 25( )
M(KN m) N(kN) Q(kN)
+Mmax 14 15 49.305 155.609 13.475
-Mmax 7 7 -49.479 332.546 17.641
Qmax 10 10 -15.538 249.746 50.789
b) )
M=M B (1-Z&)
N=N B
Q=Q B
B 1.200 (m)
C 25( )
M(KN m) N(kN) Q(kN)
+Mmax 14 15 29.583 155.609 13.475
-Mmax 7 7 -29.687 332.546 17.641
Qmax 10 10 -9.323 249.746 50.789
RC
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6-3

1)

=1
=11.500 (kN m)

=8
=9
=-9.451 (kN m)

=14
=15
=30.596 (kN m)
=22
=23
= -30.596 (kN m)

=14
=15
=32.870 (kN m)
=7
=7
=-32.986 (kN m)

RC
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@)

5 36

33

22

48

=1
=1

=0.000 (kN)
=8
=9

= 221.438 (kN)

=14
=15

= -88.128 (kN)
=22
=23

= 83.976 (kN)

=14
=15

=129.674 (kN)
=7
=7

= 277.122 (kN)

RC (L1)
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3)
a)
=4
=4
= -14.820 (kN)
b)
=18
=18
= -39.896 (kN)
c) +
=10
=10
= 42.324 (kN)

RC (L1)
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1)

Ki
Ki

Ki =

Ai

Ai

li
(h-u)

B h+n ( As+As")

(0.5 B h2+n (As d+As" d))/A

B (u+(h-u))/3+n

MZ/N

=

2

z £ 2 <

(As (d-u)+As

(u-d)?)

RC
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@)
1) (Ki )
O¢c
g3
O AL
R I —1
S > | mow [ N
S | — 9|
o~ © o o0
a
= 1
Oy =
@) o \Bﬁﬁ}%/ ga
-6.1.1
N M
Oc= —+—— u Oca
Ai li
Oca : (N/mm?)
o : (N/mm?)
2) ( Ki N=0 )
P N
@ <
OC
o NS “—M ®
T < c
U . -« C
< P K
[ n
o -
R o~ %EME > T\ h/2-x/3
.\U ‘m T
% 5 e ey
-6.1.2

X%-3 (h/2-e) X?+(6 n/B) (As (e+C)+As" (e-C"))
X-(6 n/B)(As (e+C) (C+h/2)+As" (e-C') (h/2-C"))=0

M
B /2 (h/2 - x/3)+(n As'/X) C' (C'-h/2+X)+(n As/X) C (C+h/2-X)

n Oc¢ h
s = C+ - sa
o= — (C+—-X) ©
n Oc h
Gs':—(cl— +X) Osa
X 2

RC

51



(Ki N O )
X N
"U{ L As “—057 o
: < C
N < o
9 - Eq:mm ;:
O As Hmm i
g g ‘ » T \N/2-x/3
"U{ 'm \ )
% B (] e/
-6.1.3
(As + As") n (As+As") 2 n
X = -n + ( 2+ (d As+d" As")
B B
M
c = Oca
BXx/72(d-Xx/3)+nAs" (xX-d/X) (d-d")
d-Xx
Os = n Oc —— Osa
X
X -d
Os' = n Oc¢ — Osa
X

Osa

Os

Os

(mm)
(mm)
(mm)
(N/mm?)
(N/mm?)
(N/mm?)

RC
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1.15  Qmax
B d

Qmax

(kN)

RC
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3)
15 7 10
B m 1.200 1.200 1.200
h m 0.150 0.150 0.150
M kN m 49.305 -49.479 -15.538
N kN 155.609 332.546 249.746
Q kN 13.475 17.641 50.789
d mm 115 115 115
As cm’ 15.8880 15.8880 15.8880
d mm 35 35 35
As' cm’ 15.8880 15.8880 15.8880
n - 15 15 15
Aw cm?
aw <
Ss mm
e mm 317 149 62
Ai mm’ 227664 227664 227664
u mm 75 75 75
li mm¢/Ring 413762400 413762400 413762400
Ki mm 24 24 24
f mm 317 149 62
X mm 52.1 58.6 81.4
oc N/mm? 15.1 OK 15.2 OK 4.7 OK
os N/mm’ 273.5 OK 219.3 OK 29.0 OK
os' N/mm’ 74.3 OK 91.9 OK 40.2 OK
TcC N/mm? 0.112 OK 0.147 OK 0.423 OK
Qc kN
Qs kN
ow N/mm?
oca N/mm? 24 24 24
osa N/mm? 300 300 300
Ta N/mm? 11 11 11
RC
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6-5

1)

ki

MO=(1- &) > M > B(N mm/Ring)

3 25%

NO(N/Ring)
NO=N =< B
e (mm)
e = M0 / NO =29583000 / 155609 = 190.11(mm)
ki(mm)

ki=h/6=150/ 6 =25

ob
oc =nx/ (Bx¥/ 2 -n Asb(db - x)) (N/mm?)
X

x3+3ax? + 6 n/B Ash(a + db) x - 6n/B Asb db(a + db) =0

Asb = (mm?)
db = ( )
a=e-h/2
h= ( )

ob

ob=n oc (db - x)/x (N/mm?)

RC
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15 7 10
B m 1.200 1.200 1.200
h m 0.150 0.150 0.150
MO kN m 29.583 -29.687 -9.323
NO kN 155.609 332.546 249.746
db mm 85 65 85
Asb mm’ 1548.4 1548.4 1548.4
n - 15 15 15
E % 25 25 25
e mm 190.11 89.27 44.80
X mm 47.26 45.33 61.47
Ki mm 25.00 25.00 25.00
oc N/mm? 15.85 19.43 7.44
ob N/mm’ 189.87 126.48 42.69
oca N/mm? 24 24 24
oba N/mm? 285 285 285
RC
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6-6

—~

[N
~
—
~

57

mm

1200.00

mm

85.00

; li
TN

mm

65.00

mm

47.26

BERE

-6.6.1

Am = 925mm? (PL t = 11mm B = 100mm)

FCD500(0s = 285N/mm?)

M = 29.583 (KN m/m)
N = 155.609 (kN/m)
1 Po1 (N/Ring)
Por =(M-x1 N)B/l
= (129583 - 0.04726 > 155609.0 ) >< 1.20 / 0.085

= 313820.028

Obt =P/ mb  Awm
=313820.028 / (2 < 925)

=169.63 285 (N/mm?)  OK

RC



@)

Asb = 1548.4mm? : SD345 (ota = 300N/mm?)

M = 29.583 (kN m/m)

N = 155.609 (KN/m)

1 Pur  (N/Ring)

Pu = (M - X1 N)B/Uo

= (29583 - 0.04726 > 155609.0 ) >< 1.20 / 0.085

= 313820.028

X1 : (mm)

Uo : (mm)

Oul

Ou = Pu / Asb

= 313820.028 / 1548.4

=202.67 300 (N/mm?  OK

RC
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RC

01

Sv

0.208 (m/sec)

@)
Do m 3.400
Di m 3.100
Di' m 3.000
h m 0.150
h* m 0.200
B m 1.20
Rc m 1.6250
Rc’ m 1.6000
@)
nbr 13
Ab m? 0.0001539
An m? 0.000192
Ib1 m 0.005
Io2 m 0
Ib3 m 0.012
Iba m 0.02
RC



18.400m

H=

18.400 (m)
_ 4 Hi/Vsi
Hi(m) Vsi(m/sec) (sec)
GL
3.300 15 197 0.067
. 1.000 5 171 0.023
g
o 4.200 33 257 0.065
N
6.200 41 276 0.090
3.700 38 269 0.055
18.400 0.300
Te sec 0.300
Ts sec 0.375
Sv m/sec 0.208
Viteq kN/m? 18.166
Vos m/sec 196.3
Gs KN/m? 71429
L m 89.0
Kgt kN/m? 71429
Kq2 KN/m? 71429
Kgs kN/m? 214287
As' m? 2.011
Ks kN/m 55302500
Ki kN/m 845000
(EA)Ceq kN 66363000
(EA)Teq kN 998740
(El)Ceq kN m2 85272000
(EN)Teq kKN m? 3496242
RC
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PCh,PTh kN 6644.176 317.739
PCy,PTy kN 4984.912 238.390
MCh, M kN m 3850.233 162.416
MSv,M™ | kN m 1964.890 81.376
Q%, Q" kN 271.817 11.466
Q%,Q™v kN 138.716 5.745
Us m 0.00933
Uv m 0.00467
P’ PTo" kN 8306.288 397.225
M M’ | kN m 2722.526 114.845
MS',M™' | kN m 1389.387 57.542

PCrax, PTmax kN 10715.112 18.272

Mk, MTrax kN m 2722.526 114.845

( 68 )

o | N/mm? 315 7.321 oK

ow | N/mm? 315 39.219 oK

os | N/mm? 315 46.540 oK

osc | N/mm? 24 9.279 oK

RC
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1)

@

Py

P P
TEREEREREN
Wi
/
<< 45°
< 45°
AN
q
PH2 PH2
Py
(O A O A O O
Pq
Pvi | kKN/m? 132.459
Pui | KN/m? 98.844
Phz | kKN/m? 143.644
Wg | kN/m? 5.081
Pg kN/m? 15.962
q kN/m? 8.320
Ise m* 0.000667
Ec kN m2/m 33000000

RC
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®)

N
1 3.300 15
2 1.000 5
£
o
8
b
N 3 4.200 33
£
g
3
Il
T
4 6.200 41
5 3.700 38
(1)
1 1
Z(m) Ura(m) u(m) U sin® U cos© ds Kb ds Ks ak aj
(m) (m) (KN/m?) (kN/m?) (kN/m) (kN/m)
1 9.4000 0.0110 0.0035 0.000000 0.003500 36853.669 12284.556 0.0000 42.9959
2 9.4243 0.0110 0.0035 0.000608 0.003447 36853.669 12284.556 22.3985 42.3427
3 9.4965 0.0109 0.0034 0.001163 0.003195 36853.669 12284.556 42.8560 39.2486
4 9.6144 0.0108 0.0033 0.001650 0.002858 36853.669 12284.556 60.8086 35.1078
5 9.7743 0.0106 0.0031 0.001993 0.002375 36853.669 12284.556 73.4362 29.1726
6 9.9715 0.0104 0.0029 0.002222 0.001864 36853.669 12284.556 81.8715 22.8994
7 10.2000 0.0102 0.0027 0.002338 0.001350 36853.669 12284.556 86.1738 16.5842
8 10.4528 0.0099 0.0024 0.002255 0.000821 36853.669 12284.556 83.1147 10.0838
9 10.7222 0.0096 0.0021 0.002068 0.000365 36853.669 12284.556 76.2169 4.4797
10 11.0000 0.0093 0.0018 0.001800 0.000000 36853.669 12284.556 66.3366 0.0000
11 11.2778 0.0090 0.0015 0.001477 -0.000260 36853.669 12284.556 54.4407 -3.1998
12 11.5472 0.0087 0.0012 0.001128 -0.000410 36853.669 12284.556 41.5573 -5.0419
13 11.8000 0.0084 0.0009 0.000779 -0.000450 36853.669 12284.556 28.7246 -5.5281
14 12.0285 0.0082 0.0007 0.000536 -0.000450 36853.669 12284.556 19.7621 -5.5275
15 12.2257 0.0080 0.0005 0.000321 -0.000383 36853.669 12284.556 11.8445 -4.7053
16 12.3856 0.0078 0.0003 0.000150 -0.000260 36853.669 12284.556 5.5281 -3.1916
17 12.5035 0.0076 0.0001 0.000034 -0.000094 36853.669 12284.556 1.2605 -1.1544
18 12.5757 0.0075 0.0000 0.000000 0.000000 36853.669 12284.556 0.0000 0.0000
19 12.6000 0.0075 0.0000 0.000000 0.000000 36853.669 12284.556 0.0000 0.0000
20 12.5757 0.0075 0.0000 0.000000 0.000000 36853.669 12284.556 0.0000 0.0000
21 12.5035 0.0076 0.0001 -0.000034 -0.000094 36853.669 12284.556 -1.2605 -1.1544
22 12.3856 0.0078 0.0003 -0.000150 -0.000260 36853.669 12284.556 -5.5281 -3.1916
23 12.2257 0.0080 0.0005 -0.000321 -0.000383 36853.669 12284.556 -11.8445 -4.7053
24 12.0285 0.0082 0.0007 -0.000536 -0.000450 36853.669 12284.556 -19.7621 -5.5275
25 11.8000 0.0084 0.0009 -0.000779 -0.000450 36853.669 12284.556 -28.7246 -5.5281
26 11.5472 0.0087 0.0012 -0.001128 -0.000410 36853.669 12284.556 -41.5573 -5.0419
27 11.2778 0.0090 0.0015 -0.001477 -0.000260 36853.669 12284.556 -54.4407 -3.1998
28 11.0000 0.0093 0.0018 -0.001800 0.000000 36853.669 12284.556 -66.3366 0.0000
29 10.7222 0.0096 0.0021 -0.002068 0.000365 36853.669 12284.556 -76.2169 4.4797
30 10.4528 0.0099 0.0024 -0.002255 0.000821 36853.669 12284.556 -83.1147 10.0838
31 10.2000 0.0102 0.0027 -0.002338 0.001350 36853.669 12284.556 -86.1738 16.5842
32 9.9715 0.0104 0.0029 -0.002222 0.001864 36853.669 12284.556 -81.8715 22.8994
33 9.7743 0.0106 0.0031 -0.001993 0.002375 36853.669 12284.556 -73.4362 29.1726
34 9.6144 0.0108 0.0033 -0.001650 0.002858 36853.669 12284.556 -60.8086 35.1078
35 9.4965 0.0109 0.0034 -0.001163 0.003195 36853.669 12284.556 -42.8560 39.2486
36 9.4243 0.0110 0.0035 -0.000608 0.003447 36853.669 12284.556 -22.3985 42.3427

RC
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M(KN m) QKN) N(kN) M(KN m) QKN) N(kN)
T 11 11.500 -37.484 196.450| 36 | 1 11.500 ~31.254 170.888
112 1.046 -37.484 196.450 | 36 | 36 20.218 -31.254 170.888
2 | 2 1.046 -30.310 223.731] 35 | 36 20.218 —21.724 149.345
2 | 3 -9.917 -30.310 223.731] 35 | 35 26.277 21.724 149.345
3 | 3 -9.917 -36.403 248.899| 34 | 35 26.277 -10.551 134.707
3 [ 4 -20.070 -36.403 248.899| 34 | 34 29.218 -10.551 134.707
4 | 4 -20.070 -28.164 269.298 | 33 | 34 29.218 1.476 127.946
4 [ 5 -27.925 -28.164 269.298| 33 | 33 28.807 1.476 127.946
5 [ 5 -27.925 -16.378 281.648] 32 | 33 28.807 12.030 130.262
5 [ 6 -32.492 -16.378 281.648] 32 | 32 25.452 12.030 130.262
6 | 6 -32.492 -1.766 284.459| 31 | 32 25.452 21.026 140.895
6 | 7 -32.986 -1.766 284.459] 31 | 31 19.588 21.026 140.895
7 [ 7 -32.986 14.701 277.122] 30 | 31 19.588 29.151 158.752
7 [ 8 -28.885 14.701 277.122] 30 | 30 11.457 29.151 158.752
8 | 8 -28.885 28.452 260.059] 29 | 30 11.457 33.742 182.817
8 | 9 ~20.950 28.452 260.059| 29 | 29 2.048 33.742 182.817
9 [ 9 -20.950 37.971 235.929] 28 | 29 2.048 35.061 210.799
9 [ 10 -10.359 37.971 235.929] 28 | 28 ~7.731 35.061 210.799
10 | 10 -10.359 42.324 208.122| 27 | 28 ~7.731 33.110 239.996
10 | 11 1.444 42.324 208.122| 27 | 27 ~16.966 33.110 239.996
11 | 11 1.444 41.626 180.132| 26 | 27 -16.966 27.164 267.096
11| 12 13.053 41.626 180.132| 26 | 26 ~24.541 27.164 267.096
12 | 12 13.053 35.570 155.577| 25 | 26 ~24.541 17.412 288.741
12 | 13 22.974 35.570 155,577 25 | 25 -29.398 17.412 288.741
13 | 13 22.974 24.250 138.091] 24 | 25 ~29.398 £.390 302.087
13 | 14 29.737 24.250 138.091] 24 | 24 -30.621 4.390 302.087
14 | 14 29.737 11.229 129.674] 23 | 24 -30.621 -8.245 305.930
14 | 15 32.870 11.229 129.674] 23 | 23 -28.322 -8.245 305.930
15 | 15 32.870 -3.036 131.750] 22 | 23 -28.322 -20.100 299.702
15 | 16 32.022 -3.036 131.750] 22 | 22 ~22.716 ~20.100 299.702
16 | 16 32.022 -17.437 144.685] 21 | 22 ~22.716 -30.505 283.641
16 | 17 27.160 -17.437 144.685] 21 | 21 -14.208 -30.505 283.641
17 | 17 27.160 -30.197 167528 20 | 21 -14.208 -38.337 258.788
17 | 18 18.738 -30.197 167.528| 20 | 20 -3.516 ~38.337 258.788
18 | 18 18.738 -38.518 196.904 [ 19 | 20 -3.516 ~41.274 228.450
18 | 19 7.995 -38.518 196.904 19 | 19 7.995 ~41.274 228.450
M(KN m) N(kN) QKkN)
+Mmax 14 15 32.870 129.674 11.229
-Mmax 7 7 -32.986 277.122 14.701
Qmax 10 10 -10.359 208.122 42.324
RC



15 7 10
B m 1.200 1.200 1.200
h m 0.150 0.150 0.150
M kN m 49.305 -49.479 -15.538
N kN 155.609 332.546 249.746
Q kN 13.475 17.641 50.789
d mm 115 115 115
As cm’ 15.8880 15.8880 15.8880
d mm 35 35 35
As' cm’ 15.8880 15.8880 15.8880
n - 15 15 15
Aw cm?
aw <
Ss mm
e mm 317 149 62
Ai mm? 227664 227664 227664
u mm 75 75 75
li mm‘/Ring 413762400 413762400 413762400
Ki mm 24 24 24
f mm 317 149 62
X mm 52.1 58.6 81.4
oc N/mm? 15.1 OK 15.2 OK 4.7 OK
os N/mm? 273.5 OK 219.3 OK 29.0 OK
os’ N/mm? 74.3 OK 91.9 OK 40.2 OK
TcC N/mm? 0.112 OK 0.147 OK 0.423 OK
Qc kN
Qs kN
ow N/mm?
oca N/mm’ 24 24 24
osa N/mm? 300 300 300
Ta N/mm? 11 1.1 11

RC




@)
15 7 10
B m 1.200 1.200 1.200
h m 0.150 0.150 0.150
MO kN m 29.583 -29.687 -9.323
NO kN 155.609 332.546 249.746
db mm 85 65 85
Asb mm* 1548.4 1548.4 1548.4
n - 15 15 15
g % 25 25 25
e mm 190.11 89.27 44.80
X mm 47.26 45.33 61.47
Ki mm 25.00 25.00 25.00
oc N/mm? 15.85 19.43 7.44
ob N/mm’ 189.87 126.48 42.69
oca N/mm? 24 24 24
oba N/mm? 285 285 285

169.63 (N/mm?)

Osa = 285 (N/mm?)

OK

Oul

202.67 (N/mm?)

Osa = 300 (N/mm?)

OK
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